ERSAROREERT —I X—RIBIST—F

2021€E10812H (A) 15@ER2H

m*j??\ fixg C23 ECR IR
[AXE%] 1&:300,00H / 2&:9%,00H  3&:48,000H . 43#&:36,000 " 53 :30,000
RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
SYILY €3 EE%E 1:29.5 1-1-1-1 [37.8| - 1 455 | EH—S (&R
'IVUND— 56.0 ) © |#nesEE
R:STU—=F4A B:SIIUvY bld=rive]
- EIES : -3-3- - SHAEH @R
FYINFAFD 5 [ S A P |Eees
RiN—EVYIv— B:yvarRr—F /=Y Tr—1I
» 7 | HES 1:31.1 6-6-4-4 |37.7| - 6 510 | MIERFOR (&R)
LA R7F7— * 5.0 (1172 w1y | ) Tr—2kevay
RIZAAATIZVIR BFFIIR-5 FER Y R
S t 3 | tH 1:31.4 2-2-2-2 [39.5| - 3 194 | EiEEZ (&R
ZRORU—LA £ 54.0° a1/2) “2) ) *<B5474R
R:RwSXYF 7RO/ AVEY xF s
TS » FEIRAT : -7-7- - FHEE (&R
5055 |4V RILR=IL e R N I e Y |EmEe
R:O—RFVIIL B:O9AYRRA—T LT
=33 sy 6 | BRERAM: 1:34.3 4-4-6-5 |40.9| — 5 475 | HbE—th &R
61111 |F—R=YV3a—Y e 56.0 @) @) |SEEA
Ri/ITURN BiF—RZNIA ®)l| B—
v 4| FARK— 1:34.3 5-5-5-7 |40.8| — 7 437 | BEHEX &R
718/8|7v¥a A 75 W) | @ Fr—2hEYIY
R:I4 I RD=LEY BiR—LD4—R T #&%
S ft 4 | P 1:37.0 8-8-8-8 |41.2| - 8 1 |BIBE (&R)
Rih—tVKIUIRY B: 777 tes
@ 11— —BBIEfI
13—7— 2,3,6,1,8,(5,7) .4
20— — 2,3,6,1,8,7,5,4
30—7— 2,3,6,7,8,1,5.4
43—F— 2,(3,6),7,1,5,8,4
o ILRE
B B 2 160 JA R 2-6 110M B E 2-6 160MH 3EE 2-6-7 2,320
7B B 2 100 2-7 5504 =51 2-6 2004 3EH 2-6-7 3,000
6 100H 6-7 1,180
7 200/
RBICOVTIFUTERERERDDDE, THRLEETL




